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(hwqup npwiny)

Snnh 3nnwd| Chnwaklp .
NN GUwinmwunbuwylbipp h NN (U.5+0.6) wyn pyntd
Jupswywh | $nlnwyhh
dwu dwu
1 2 3 4 5 6
cLuuBLL
1000 | BHUUNESLEN (innn 917173.3 | 736673.3 | 320343.0
1100 + wninn 1200+wnn 1300)
w)jn pyntd
1100 |1.3UNPYGN 64 SNHPREN
(wnnn 1110 + winn 1120 + wninn 1130 + wnn
1150 + 1nnn 1160) 166000.0 166000.0
wyn pynid”
1110 |1.1 Qnypwjhl hwpybp wGawpd qnyphg
wjn pynd’ 35100.0 35100.0
Qnijpwhwnly hwiwjGpGGph Jupswlwb
1111 tmwnpwoépltipnid qunbGynn 260pLph L 26500.0 26500.0
2hGnipjnLGGGph hwdwn
3nnh hwny hwiwbpbtph Jupswyw
112 nwpwépbbinnid qunbynn hnnh hwdwnp 8600.0 8600.0
1120 | 1.2 Qnupwjhl hwpltp wy gniyphg 117900.0 117900.0
wjn pynid”
1121 | nuewhunl thafuwnnwahengltnh 117900.0{ 117900.0
hwdwp
1.3 UwypwbplEph oquwugnpédwl Ywd
1130 [qnpéniGbnipyjwl hpwywGuwgdwd 7000.0 7000.0
pnyjnynipjwl yownGbp
wyn pyntd’
1131 Stinwywb wnnipptip
(wnnn 1132 + winn 1135 + wninn 1136 + wnn
1137 + winn 1138 + winn 1139 + wninn 1140
+ wnn 1141 + winn 1142 + wninn 1143 + 7000.0 7000.0
innn 1144+wnn 1145)
wjn pyni’
w) Iwdwjlph nmwpwdépnid Gnp
26GpLph, 2nGnLpyncGGEpp (GGpwrjwg ng
1132 hpiGwywah) 2hGwpwpnepynth 200.0 200.0
(nBnwnpdwa) pnijpnynepjwl hwdwnp
(winn 1133 + wninn 1334),
nphg”
1133 ww) Ipdbwlwb 2hbGnipyntbGlEph 100.0 100.0
hwdwn
1134 wp) Ny hhdGwywh 2hGnipyniGhGph 100.0 100.0
hwdwn




(hwqup npwiny)

Snnh 3nnjuwé| LOGnwiklp

NN GUwinmwunbuwylbipp h NN (U.5+1.6) wyn pyntd
Jupswywa [ $nlnuyhl
dwu dwu
p) Iwdwjlph Jupswlwb tnwpwdpnid
2t0ptiph, 2hGnupynilGtinh,
pwnuwpwzhlwlwl wy opjtiynGtiph
JGpwlwnnigdwd, nidbnugdwa,
1135 YGpwywbqbowh, wpnhwlywlwgdwb 200.0 200.0

wfuwwnwbplbp (pwgwnenipjwdp 33
ontlunnpipjwip uwhdwbOywdé
2hGwpwpnipjwb pnyinynipynth
swywhwlgynn ntiwptinh) Ywwnwnbin
pnjinynipjwl hwdwn

q) 3wiwjlph qupswlwl nwpwépnLd
2tGptinh, 2hGnipyniGatnh,

1136 pwnwpw?hbwywb wy) opjYwnGEph 10.0 10.0

pwlndwl pnijpinynipjwl hwdwp

n) Iwdwjlph mwpwépnid nqbithg
fudhspltinh L (Ywd) Stuwfuninh
wpuwnpwlph Jwdwnph, huy
1137 hwlpwjhG uGlnh opjtiywnbLpnLd™ nqbithg 4500.0 4500.0
fudhspltnh L (Ywd) Stuwfuninh
wpunwnpwlph hpwglwh pnijnynipjwl
hwiwn

&) Iwiwjlph nwnpwdépnLl pwgopjw
1138 Jwdwnp Jugdwytpwbint 60.0 60.0
pnijjindnipjwl hwdwp

q) 3wdwjlph nmwpwdépnLd hbnniy
Jwnbihph, nGuGhywywb htnnwyGtiph,
htnnLywgywé qugbiph dwlpwéwfu
1139 wnlwnph Yhwnbpned htinndy Juebihph, 500.0 500.0
nbfuGhywywb htnniyltiph,
htnniywgywé qugbinh Jwdwnph
pnLjiinynipjwl hwdwnp

) 3wdwjlph tnwpwépnid wnlunph,
hwGpwjhG uGlnh, gywnpdwbph,
2whnuiny fuwntiph L yhdwywhuwnbiph
1140 Juwaqiwybpwdwh opjtywnGbpp,
pwnGhpGtpp (uwnilGwGtpp),
fuwnwwnGtipp dwdp 24.00-hg htiinn
wfuwwntipnt pnijinynipjwl hwdwn

p) 3wiwpwnwpwjhl YwanGGEpph
hwiwwwunwuhuwb Gplwb pwnwph L
1141 pwnwpwjihl hwiwjbpbtph nmwpwépnLy
pGunwbh YEhnwbhGbp wwhGpno
pnijjindnipjwl hwdwp

p) Iwdwjlph nwpwépntd wpunwphl

1142 agnywqn inbnwnpbiint pnijinynipjwl 1100.0 1100.0
hwdwp
d) 3wdw)lph wnptuhdhg thwuwnwpnpbinh

1143 wwwndkbtp L ypyhophGwybtn 30.0 30.0

npwiwnpbint hwdwn




(hwqup npwiny)

Snnh

GUwinmwunbuwylbipp

Innyué
h NN

Clnwadkbp
(u.5+u.6)

wyn pynid’

Jupswywh
dwu

$nlnwjhG
dwu

1144

dw) Iwdwjlph nmwpwdpnLl
(pwgwnnipjwip pwnwjhl
hwiwjlpltiph) dwpnwwnwn nwpunt
(pwgwnnipjwdp Gppninwjhb
nwpuhGtph) SwnwjnipjnLl
hpwywbwglbnt pniyinynepjwb hwdwp

300.0

300.0

1145

dp) PQwllywndtip tLwnwnlbphg
wwwnpwuinywé hpbiph dwbpwdéwfu
wnnijwdwnph pnyinynipjwl hwdwn

100.0

100.0

1150

1.4 Uypwbplbph dwwnwlwpwpniihg b
6wnwynLpjnLGGEph dwwnnignLdhg wyg
wwpunwnhp Ysdwplbp

wjn pynLt’

6000.0

6000.0

1151

Swdiwjlph pjnet ydwnynn whwnwlwb
wnLpptin

(wnnn 1152 + innn 1153)

wjn pynid”

6000.0

6000.0

1162

w) Lwnwpwghwlwh Ywgnipjw
wlywnbp qpubgbint, nhwbg dwuhb
pwnwpwghbtiphG YpyGuwyh
Jywywluwbabp, pwnwpwghwywb
Ywgntpjwl wynbpnid juwnwnpywéd
gpwnnLilbpnid thnthnfunipyniGGtn,
(pwgnLdbtp, nunnnudlGtp Juwnwpbine b
yEpwywbqlbiwb uwwygnipjuip
Jywjwlwbhbp tnwint hwdwnp

1500.0

1500.0

1165

3nnh hwpyh L gniypwhwnyh qény
hwdwjlph pjniet ydwpniiltiph

plwqwywnntd pwgwhwjnywé
hwnYwjhG opGlunpnipjwl
fuwfuinnidGtiph hwdwn hwpywwnnlGtphg
qwdynn wnnydtip L tnntqubpltin, npnGp
b0 hwaywpyyned wyn hwpytph
qnuiwnbbph GHwwndwdp

1200

2. mucsSnuuuuL ruvucunrluer

(innn 1210 + winn 1220 + wnnn 1230 + wnnn
1240 + wnnn 1250 + wninn 1260)

wyn pyntd’

681243.0

500743.0

180500.0

1210

2.1 COpwghy wpwnwphl wwounnlwlw
npwiwbnphGbp” unwgywé wyp
wtwnipynLlGhphg

wyn pyntd’

1241

SWOWJUPTT PJITYt UNMCaTP WO T,
wpunwpht ywnnbwywb
rmuujujz[]nnhﬁbn‘ utnwgywaé ljhgujqqujjh[]

onnbibEnnminim GOknha 1y

1250

2. 5 Eﬁplughu GtipphG ulwzmnﬁwuujﬁ
npwiwlnphlbp’ unwgywé
Yuwrwywpiwb w)j] Swlwpnuwybbphg
(nnn 1251 + winn 1254 + wninn 1257 + wnnn
1258)

500743.0

500743.0

180500.0




(hwqup npwiny)

Snnh

GUwinmwunbuwylbipp

3Innywé
h NN

Clnwadkbp
(u.5+u.6)

wyn pynid’

Jupswywh
dwu

$nlnwjhG
dwu

nphg”

1251

w) MEunwywb pjnpthg Showbuwlwb
hwidwhwnppbgdwb uygpnilpny
inpwiwnpynn nnuinwghwtin

499108.2

499108.2

1257

T) - TOOTCU O UrT [ TICY O g O T T oL

Guwunwywjhb hwnyuwgniiGbp

Loy lEGabhiaGlEn)

1634.8

1634.8

1260

2.6 Ywwhwnwy Gepphl yWwwnnGwlwb
npwiwlnphlbp’ unwgywé
Ywrwywpiwb wy dwwpnulyGtphg

(nnn 1261 + wnnnn 1262)

wjn pynt’

180500.0

180500.0

1261

w) MEwnwlwh pynptihg Yuwhuwwy
owfuubph $hlwbuwynpiwl
GuwunwywjhG hwwnlwgniibbp
(unLpdbbghwGbn)

170500.0

170500.0

1262

p) 33 wy| hwdwylpltiphg Ywwhwwy
Swfuutiph $hGwluwynpiwb Gwywwnwyny
unwgynn ywnnbwlwb npwdw0nphGtn

nphg’

10000.0

10000.0

1263

Eplwb pwnuwph hwdwpwnwpwjhb
Gowlwynipjwb dwfuubiph
Shlwbuwynpiwb Guwwnwyny
dLwynpdwé vhonglbiphg

1300

3. U3L suuuntSuen

(wnnn 1310 + winn 1320 + wninn 1330 + wnn
1340 + winn 1350 + wnnn 1360 + wnn 1370 +
wnnn 1380)

69930.3

69930.3

1321

Pwdltunhpwlwb paytpnep)niGGbpnid
hwdiwjlph dwulwygnipjwl nhdwg
hwdwjlph pjnet uwwnwpynn
dwuhwGnuibbp (Qwhwpwdh(Ghp)

1330

3.3 Gniyph Jwpdwlwypnipjnilhg
GUwinLinGtp

(nnn 1331 + wnnn 1332 + innn 1333 + 1334)
wyn pyntd’

13000.0

13000.0

1331

Swdw)bph ubthwywbnepjntt hwdwpynn
hnnbph Jwpdwlwinipjwb
Jwpdwydwnlbip

10000.0

10000.0

1332

Swiwjbph Jupswlwb nwpwépntl
gunOynn wyawnwywh ubthwlwbnipynil
hwawpnynn hnnbph Jupdwlywnipjwb
Jwndwydwnlbin

1000.0

1000.0




(hwqup npwiny)

Snnh

GUwinmwunbuwylbipp

Innyué
h NN

Clnwadkbp
(u.5+u.6)

wyn pynid’

Jupswywh
dwu

$nlnwjhG
dwu

1333

Swiwjlph Jupswlwl nwpwépnLd
gnOynn wtinnipjwl L hwdwjGph
utithwywbnipjwlp ywnlwlnn
hnnwiwubiph Yuwrniguwwwundw

hnwyntlph nhdwg qubadnn
Jwpdwydwnplbin

1000.0

1000.0

1334

Uy gnijph JupdwlwinipyntlGhg dniinpbin

1000.0

1000.0

1340

3.4 3wiw)hlph pjnebh GYwdninGbp
wwpwlpbbpph dwwnwwpwpnuihg b
ownwynipjnLlGGtph dwwnnigniihg
(nnn 1341 + wnnn 1342)

5877.3

5877.3

1341

Swdwjlph ubthwywbnipncl
hwlnhuwgnn, wjn pyntd” whpwantpl,
hwdiwjOphb npwtiu ubithwlywbnipynih
wlgwd wwnwbpbbph (pwgwnnipjwip
hhdlGwlwb dhong, ns GynLpwlwb Ywad
pwpdpwndtip whwnhy hwlnhuwgnn,
hbswbu Gwl hwiwjlGph wwhniunGbpnid
wwhynn wwpwbpwbjnipwywb
wpdtipltinh) ywdwnphg dninptin

1342

Mbwnnipjwl Ynnihg intinuywb
hOptwywnwywpiwb dwpdhGatphh
wwwndhpwyqws |hwanpnipyntbatiph
hpwywbwglwhb dwfuubph
$plwbuwydnpiwl hwdwn whwnwlywh

pjnLptihg unwgynn vhonglbip

5877.3

5877.3

1350

3.5 dwpswlwb qubéaniiGtp
(nnn 1351 + wninn 1352 + wnnn 1353)
wyn pyntd’

51053.0

51053.0

1351

Stinwywb Jdwplbbp

1352

Swiw)lph Jupswlywb nmwpwépntd
hGpOwywd Ywnnigdwé ptGpknh,
2hGnipyniGGGph oppGwywltwgiwb hwdwp
ydwnbtp

20053.0

20053.0

OUTTOuUpPT I o oaug oo TfogpParita

hwiwjGpwihG hhdGwpybtpph Ynndhg
wnwlg inbnwywb wnnpph qubéddwh
dwuwnnigynn dwnwjnipntGGtph Yud

Jwuwwpynn gnpénnnip)nLGlGbph nhiwg

1 N1.1.5S 1

25000.0

25000.0

1353

OptiGpny uwhdwOywé nbwpbpnid
hwiwjGpwihG hhdGwpybtpph Ynndhg
wnwlg nbnwywb nnpph qubéddwh
dwuwnnigynn dwnwjnipntGGtph Yud
Ywuwwpynn gnpénnnip)nLGlGbph nhiwg
unwgynn (qubdynn) tpudonulju,
wpkunh nuypngutpp,
dunmipdutljuuyupuntqubph gény
Jownbbn

6000.0

6000.0




(hwqup npwiny)

Snnh 3nnjuwé| LOGnwiklp

NN GUwinmwunbuwylbipp h NN (U.5+1.6) wyn pyntd
Jupswywh | $nlnwyhh
dwu dwu
1360 |3.6 UnLuinptip wnnydbphg, wniqulpltiphg 0.0 0.0
(nnn 1361 + wninn 1362)

wjn pynLty’

dwpswywb hpwywfuwfunniilbph
hwdwp nGnuywb hGptwlwnwywpiwb
1361 dwnpuhGbtph Ynndhg
wwuwnwufuwbwwynipjwl dhonglbph
Uhpwnniihg GHwdninGbn

GOy NLpJT, ownuugnipyoa
hpwynilpny dhahwlwl whdwlghg L
YuwagdwyGpwnip)ntGGEphg hwdw)bpha,
1382 ytnpohGhu Ghpwlw pjnptitnwghh X X
hhdGwnybbph nbGonphGowGh whgwsé
gniph (hpdOwlywh dhong Ywd ng

OmininduuGanlunhil dhinlGnhinniann)

1390 (3.9 Uj LYwiniinGbp 7451 139843.0
(ninn 1391 + wninn 1392 + wninn 1393)

wjn pyntd’

Swdwjbph gniphl ywndwnwé

1391 YOwulbph thnfuhwwnnignidhg dncnptin

dwpswywb pjnptih wwhniunwjhb
1392 $nlnhg Inlnwjhb pjniot uwunwnynn X X 139843.0
hwwnwgniiltphg dnLnpkin

OptiGpny L hpwywlwb wy wywnbpny
1393 uwhiwbOjwdé™ hwdw)bph pjnokh
dntinpwagniwb Ghpwlw wy GYwinunGbp




